FgArea: [0 ]
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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

RriE) | BRI (D) | EHME (EAH/K) | XK SRR

07:25 294 150. 0 5| ThHBe07:25 KREIEF (KRAEZESE)
07:50 294 150.0 Be| ThiHHe07:50 REFEF (KFAEZRER)
08:15 294 150.0 B5| TNHA@08:15 KRENFERF (RF1ERER)
09:20 294 150.0 Be| TiHH@09:20 REFEF (KFAEZRE)
10:10 294 150.0 Be| TiHH@10:10 RHEEF (KRAEZRRE)
10:55 294 150.0 B5| TNHA@10:55 KRENFERF (RA1ERER)
11:35 294 150.0 RS FhHA@11:35 KENFEF (CRAfEEER)
12:15 294 150.0 Be| TiHje12:15 REEF (KAEZRE)
12:55 294 150.0 B5| TiHe12:55 KENFERF (RA1ERER)
13:35 294 150.0 R5| TiHAe13:35 KRHIERF (RAEHS)
14:15 294 150.0 Be| ThHje14:15 RHTEF (KAEZRE)
15:00 294 150.0 B5| TiHAe15:00 KENFERF (RA1EREE)
15:50 294 150.0 R5| TiHAe15:50 KRHIEF (RAEHS)
16:50 294 150.0 RS ThHA@16:50 KENFEF (RAMEEER)
21t 4116.0 (14)%) 2100.0 32 W#KEC: 2080.0, PH: 5.6

#ERECE (2040. 0 vs 4810.0) i

5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-15_0, Day=51 (2025-05-21)
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P3-15

BfiE) | EBIETK D) | El=E (EH/HK) | XK ERE

06:55 294 150.0 RS {Ri8e06:55 Bz (REAERSE)
07:20 294 150.0 | =| 1{Ri&e07:20 Bz (KAL)
08:40 294 150.0 BE| {Ri&e08:40 B (REAERHE)
09:30 294 150.0 BE| {RRi8009:30 Bz (REERSE)
10:20 294 150.0 Bl Ri8e10:20 Bal (REAEESE)
11:15 294 150.0 el Rige11:15 Bz (REAERSE)
12:00 294 150.0 BE| Rige12:00 Bz (REAERSE)
12:45 294 150.0 S| 1Rige12:45 Bzh (REEESE)
13:20 294 150.0 B 1Rige13:20 B3h (REEESER)
13:55 294 150.0 BS| 1Ri%e13:55 B (GREMEESE)
15:05 294 150.0 (Z=| 1Ri%e15:05 Bz (GkEBERSE)
16:25 294 150.0 |Z=| 1Ri&e16:25 Bzl (GRAHEESE)
249t 3528.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

TERRHLER 2 STEELRT (191.0 :

PRIAEBRIERE147.0 ml.

147.0), AlEEHT—RE XA HS

large discrepency for begining water status (201:39.0), set to 201 ml.

HEEIHECE (2285.0 vs 4705.0) i35




P3-15_0, Day=50 (2025-05-20)
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

07:05 294 150. 0 FB| {Ri&e07:05 Bzl (FAFERSE)
07:30 294 150.0 FA| 1Bi&@07:30 Bah (RAMERES)
07:55 294 150.0 FA| {Ri&e07:55 Bzl (kAfEEEE)
08:55 294 150.0 (2 =| 1Ri%e08:55 B (FkHBHERSE)
09:45 294 150.0 |Z=| 1Ri%e09:45 Bz (KFEESE)
10:40 294 150.0 |Z=| 1Ri&e10:40 Bz (KRBEEEE)
11:35 294 150.0 el Rige11:35 Bz (REAERSE)
12:20 294 150.0 BE| BRi%e12:20 Bz (GREAERESE)
13:00 294 150.0 S| Ri%@13:00 B3 (REERSR)
13:40 294 150.0 B 1Rige13:40 Bzh (REAEESE)
14:35 294 150.0 BS| 1Ri%e14:35 Bz CGGREMEESE)
15:25 294 150.0 S| Ri%e15:25 Bz (REERSR)
16:10 294 150.0 B 1Rige16:10 Bzh (REAEESER)
17:10 294 150.0 B Rige17:10 B3 CGREMEESE)
2i3t] 4116.0 (14%) 2100.0 329333 KEC: 2080.0, PH: 6.0

TERRHLER 2 STEEART (191.0 :

ZRIAEBRIERE147.0 ml.

HERECE (2535. 0 vs 5060. 0) 145

147.0), AlEEHT—R % XA HS
AEREMEC (2535.0) 5i%EEC (2000.0) RELK KA, B/E




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-15_0, Day=49 (2025-05-19)
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